Draw and label right triangle ABC, with the following ratios.
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Give the value of each trigonometric ratio. 
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Give the value of each trigonometric ratio in simplest radical form. 
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Draw and label a right triangle whose 
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.  Find the measure of 
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Draw and label a right triangle whose 
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, to the nearest tenth.

Use your calculator to find 
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.  Round your answers to the nearest degree.  Draw and label the triangle.  Find the missing side to the nearest tenth.
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FIND THE MISSING SIDE(S). ROUND ANSWERS TO THE NEAREST TENTH.  

1. AB = 10,  
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  Find CA.

2.  AC = 18, 
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.  Find BC.

Word Problem:  A boy who is flying a kite lets out 300 feet of string which makes an angle of 
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 with the ground.  Assuming that the string is stretched taut, find, to the nearest foot, how high the kite is above ground.
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CW:  Right Triangle Trigonometry:
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